Fall 2019

Phys 307 Classical Mechanics
HOMEWORK SET 0: REMEMBERING MATH

Due: Monday, September 2, 2019

Perform the following operations:
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The hyperbolic functions are defined as

sinh(z) = %(ez -e7) cosh(z) = %(ez +e”)



Phys 307 Classical Mechanics

Show that
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sifh'(z)=w = sinh!(z) =In(z+V7" +1)

(hint: start with 2z =" —e™and solve for w ... you'll have to solve a quadratic in e?* (& e*
& 1) and note that since the radical is always #, technically, +/ = +/ )
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Then show that
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Then show that (use the table of derivatives in the Pocket Book of Integrals and
Mathematical Formulas)
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